
ECEG 390 Theory and Applications of Electromagnetics Spring 2024 
 

Selected Answers to HW #9 
[answer to Prob. 3 revised 4/26/24] 

 
 
Remember to explain all answers in your solutions. You will not receive credit for merely 
repeating an answer given here. When an answer is not given below, it is either because the 
solution is trivial or because disclosure of the answer would give away too much of the solution. 
 
Although some effort has been made to ensure that there are no errors in the answers below, 
some might nevertheless appear. Please let me know as soon as possible if you discover an 
apparent error. 
 
 
1. a.  [answer not given] 
 b.  ( ) ( )ππππ 3.01.210100cos1.1ˆ3.01.210100cos2.4ˆ~ 66 +−×++−×−= xtxt zyH  nA/m 
 c.  λ = 3.0 m 
 d.  εr = 4.0 
 
2. yjjyjj eeee 35.30607.035.30607.0 7.70ˆ7.70ˆ~ −− += zxE  µV/m 
 yjjyjj eeee 35.30607.035.30607.0 272ˆ272ˆ~ −+−= zxH  nA/m 
 
3. 0.6 4.80.2 j j z

yE e eπ− −= mV/m [revised 4/26/24] 
 
4. a.  linear; angle = 76° 
 b.  linear; angle = 45° 
 
5. a. |E| = 0.33 µV/m at t = 5.0 ns and 10 ns; 

    angle w.r.t. y-axis = 256° at t = 5.0 ns 
    angle w.r.t. y-axis = 76° at t = 10 ns 

 b. [answer not given] 
 c. [answer not given] 
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